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— R11727% KDY RTI0N WK 7N
Just as by a woman it is prohibitory but not monetary

OVERVIEW

X7 " assumed that &"2° derived from a (separate) statement of 5"2>9 that "2
maintains 2w XaR3 7577 (regarding the 0°1vp 2°mn° of a nw A that the rule is 9
072 7191 a2 aMpn). The statement 19 was referring to is where "2 taught in the
name of 27 that if a master said ‘I have given up on my slave’; the slave is not
completely freed unless he receives a 1w Tww first.! M '3 explained® because
we derive’ 72y from 7wX that just as an 7w leaves her husband only* with a “vw
(v3), similarly an 72y cannot be completely freed unless he receives a Mmw vx.”
This (concludes 1) is from where "2 possibly derived that "2 rules like XaX
2w, for we derive from the 77 7% w"1 (in addition), that just like by a woman, the
v3 merely releases her from her MoK relationship with her husband, but not from a
monetary relationship (which does not exist), similarly the 7w ww of the 72y
releases him from the mM72y 7O°X, but cannot release him from the M1nn
relationship with his master. *27 must be discussing an 72¥ who (after the vX°) has
only an M0°X relationship with his master, but not a monetary one (since the master
was pon him through the WX, the 72y acquired his ‘monetary’ freedom).
However by an jop 72y where there still remains a monetary connection to the
master (even after the 7po7/wX>, for the WP cannot acquire himself), there is no
freedom at all and he is still n°1w1d> AMoWw2a 9N and the "W will not be effective
since it can only release him from the 70°X aspect but not from his 11 aspect.
This proves that 9"27 who cites 21 agrees with 21%w xax.°

! There are two aspects this this ruling. One, that > (or 7p57) is not sufficient to allow the 72y to marry a 1M1 N3,

and two, that even though the owner has no longer any monetary rights in the 72y (he was wX»n» from him);

nevertheless the "W is effective to emancipate the 72¥ completely (affecting the X110°X aspect exclusively).

? How we know these two aspects (mentioned in footnote # 1) are valid.

? There is a 1w 771 of 7w and 72y with the words 7% 7%, By an 7wX it is written (X,75 [X¥n] 2°127) 7% 2021 and by a

(72v) nnow it is written (2,0 [2W17R] XP™M) 72 101 KD AWHM .

* The husband cannot be ~pan his wife (he has no monetary ownership in his wife. The laws of 719v2% 7 Awyn are

051 NMIpn in exchange for Ny, etc.; however P77 IP°¥n a woman can say @1y 1K1 N1 1K),

> A Mnw va is sufficient to release him from the 710°X status of T2y (exclusively, there is no 77n status), just as a v

is sufficient to release the woman from her exclusive 710°X status as an WX nwX (the second aspect in footnote # 1).

6 anm (just like v3) can only release XMo°X but not ¥11an, therefore the 7o who still retains a 7n status as an 72y

cannot be released through =37 nn°n. However the 7127, who maintain that the jvp 72¥ is released, cannot agree to this

comparison of 7wX to 72y, for they maintain that the Jup 72v is freed even though m317 7> 1% X, this proves that nn»

N8I (and W) are effective for both Mok and 1» (not like an AwX). Therefore the 1127 can maintain that there is no
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nooIN asks:
— NYAM 199D KY BN “TINY NANY 90WA 1INNYUN Ta¥ NN 9NN ON)

And if you will say; according to ?8w Xax how can an 73y be emancipated

with a "vw, unless the master first frees him -
— 19 OGN NN XYY NNDIN YN NNT

For just like a woman (who is divorced by a v3), it is only 8919°8 and not X1a»

similarly, etc. an 72v who is freed by a 70w the 70w can only effect X10°X but not X117, this
can be accomplished only by the master first being 7°pon the 72y and then giving him the 0w
T17nw. This seems to be too far-fetched.

mooIn considers a possible solution:
— 4PN PYY NN THRSYY NN 291 1PN 13 NN 291 1N YUY 2ININ PYHT N1 999

And if you will say that the language which is written in the svw, for instance;

‘you are a free man’, or ‘you belong to yourself’, these are expressions of 2p5:7,
therefore it is indeed considered as if he is (first) 7°po» the 72v and consequently 27rwn» him,
which would seemingly answer our question —

mMooIn negates this solution:
— %59509% X9OWY Y NNY HNMYY 19 BN

If this is indeed so, why, according to YX»w is a 7w necessary to be 17nwn the

72V, he can just be 9p2% him, since the expressions of MW, namely P 12 DX 7, etc.
are really expressions of 7po11!

mo0IN continues to ask:
— P9INY NARY 1O YINNYN TRON 1PN 2P 5 1ONT N

And in addition, even with 22277 how can one emancipate an jup 72¥ according

to YINR R2X (who maintains that a Jvp has no m>1> 7° and therefore is not 7P even from a
monetary standpoint)?!

need for a MNw vw. This entire explanation is based on (and according to) Xp1 7"7 >"w".
7 We are now assuming that 9w X2 (and *27) maintain that a 1197w 0w can only release the M10°X aspect but not
the 77n aspect (just like WX 03). See ‘Overview’.
8 See Tponi "7 R,m? MO0, where MoON states that (even) according to 7X1Mw who maintains M7° M7 XX 172V 9pond
W va "R, that is only if he used a "% of 1poi; however if he said 1" 12 X »17, etc. (the expressions used in a
T17nw W) that is not considered 257 but are MNWY of 1°Ip (or 72°1n) and are not valid 5"¥2 unless they are written
in a (W">y) qow. If we assume however that the N> of the Tvw are 7ps77 YW Mnw? (as in the previously proposed
solution) then they should be valid 9"va as well, just like any other 1Ww% of 1p571 (according to PXAw).
? There is a difficulty even if we assume (the far-fetched notion) that every 7w must be preceded by qp5i1 as MO
suggested in his initial question.
19 938w XaX maintains that regarding the o712 727 072 077 22 01vp indicating that they are not free at all!
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N1B0IN answers:
— Maunm 1999957 NNNT P3P KPITT PNY 13939 IIN)

And the ' explains that only regarding acquiring oneself through death of

the master which we derive from 72N -
- ZaunT NomrT XM KDY NIDON 1990N

Do we say that the power of the master over the 729 need be 1122 8?1 XR110K just

like 7@ (and it can only release the MO°X aspect but not the 17 aspect) -
— M5 1Y T0WA NIINIYN (0> xapw NY I KD NUWIN IN PRIPA NYTNA 2INIY 90V YaN

However regarding emancipation by auw, which is written explicitly in the 02

that 's7® 3n°1 X% 7wsn IR'; she is emancipated with a auw alone without needing
701 to precede it, even though it is X117911 X0 -
— 23551 9259 N9 RYPNT

Since it is an explicit verse, that a 72v/An5w can be emancipated (with a “0w) —

Mmoo offers an additional explanation that W is effective for X11mn as well -
— 7m0 RY 7197 (0w 290941 4909 19399 T0Y YPIINRT TN

And furthermore, "2 was likened to n®> 1P as is written, ‘and [redeemed]

she was not redeemed’ -
—90YAa NIN NIPN IV 1PN 272y 2310910 SNWNINI NIN 9INRTI 191991 YD G0 1237 97

And the main aspect of 9> 1 (to redeem the slave) is that it removes the

"' We derive from the 7% 7% w"7a that just as an 7@K is Y¥27 NN AREY, similarly an 72y is 787 NN2 KX,
12 Therefore the 017 o°72y who have a 7 acquire their n11n status and the 7in°» releases them from the Mo X status;
however regarding 0°10p 072y who have no 7> and cannot acquire their 111 release, the 7377 nn cannot provide for
them a release from their 711 obligation.
13 We derive that a T2v/amow is freed with a qow from the 719 7> W' (see footnote # 2), however once there is a w'"ra
this teaches us that the phrase 7% 101 X% 7wsn R is referring to a Mvw. Therefore it is considered ®*772 21n5w. However
regarding the freeing of an 72y through 17877 Nn*», while it is (also) derived from the 77 77 w"1, nonetheless there is
no P10 which we interpret to mean 11787 Nn» (as there is by 70wa x°xY). This is not considered X>772 21N2.
" It will be necessary to say that when the X723 states T0w3a 72y A w2 AWK A» it does not mean just like by 7wx
where the 7w effects only M0°X, the same is by 72y, but rather just as by nwX she needs a 0w and P57 is
insufficient, similarly an 72¥ needs a 7vw and 7p57 alone is insufficient. Nonetheless a qvw alone is certainly
sufficient by an 72¥ to release him from both 710°X and 1nn.
"It is only regarding the 7X*¥* through 17787 nn that X711 "1 assumed that we derive from 7wX that it is effective
only for 110°% but not for 17, and therefore this explains 7Rw RXax that regarding the adults who are 23y 7139, from
the 1mn aspect, and there only remains only X0, they are released though 77%7 nn n; however concerning the
o1vp 0272y who have no 7° and they are still bound by both &7110°% and X117 therefore the 11787 nn*» cannot release
them from this bondage. Regarding a regular 170w 70w however; that is effective in any event, even by X111 RM0°X
(by a regular 72y [whether a up or a 2173]), or only ¥10°X (by an 217 72y that was made po1).
'® An 72y can redeem himself by paying off the master his value as an 72y. He then becomes totally free and is 20
7791 122 without a 1w va. We derive this from 70791 8Y 7797
7 The 2109 reads N1 XY 779" (referring to 7032 N79), 177 101 XY Awon W (referring to MW ww). There is a wpn
between (775M1) 7002 AX°X’ and (7WdHM) WA ARX.
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money obligation to the master, as the X713 states here, if the master said, ‘I have
abandoned my slave’, there is no recourse for the 72¥ except for a 1w ww -
1199DAN Y91 129D N9 ¥pat UNY qaa Hax
However (in this case of 2°%y2 wX°), the 72v will not be redeemed with n@> (the
72¥ cannot pay the master his value and become a 17117 32 [as he usually can]), for

the monetary connection to the master has been removed when he was 2pp2 the
72Y (at the time of wX); the only solution is a MM Ww. Therefore, just as 703 is MM ¥PdA, SO
too a MW VW is also Pn Y pon.

SUMMARY
The comparison of X117 R?1 X110°R WK 71 s0 t00 72V is K11 K21 RNMOX is referring
only to the 72¥7 MINW through N7R7 NN°M, but not through w2 MNWY.

THINKING IT OVER

ModIN asks since we assume 121 72y X 121 MOR WK 71, how can an 72Y be freed
with a MM Y. Seemingly, just as the master can sell the 72¥ with a 727 0w,
where he transfers the 77n and Mo°X to the buyer, why cannot we say the same
when gives the MY W to the 72V that he is transferring to the 72y the complete
ownership of the 723?"

18 no2 can usually redeem the 72¥ (see footnote # 16), but not in this case, for here there is no Mn»» 17 on this 72
since the master was wX»n» from him. We must conclude that the main purpose of (103 1°12) 7032 ;179 is to release
the 72y from the ninmn aspect of his M72y and (as a result [based on a 3"7°13]) it also releases him from the oK
aspect). In this case since there is no n1mn aspect, 103 is meaningless. All this proves that 103 removes the N
aspect. Since there is a w7 from 702 to W (see footnote # 17), we can conclude that just as 703 releases NN
(and X70°X) so too W releases X111 and ROK.

¥ See n"ma.
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